A few thoughts

There are only a couple of key ideas

— conservation of energy

— binary relationships in gas systems
Avoid “rush to judgment” which means be certain
to read the question carefully and make sure you
complete it. “Littlethings’ like signsin
thermodynamics or K in gases can cause great
difficulty.

Remember that all needed equations will be
orovided

t 1s often more useful to ask “What can be done
with the data provided?’ than “How the heck am |
supposed to solve this?’




Hess Law
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ns shown below to determine

the enthalpy for the final reaction:

(4P Clsi{gi==Pa(s) + 10Ch{g) q=1222KJ
(NP Cls{)=>PClz(g) + Cla{g) g=b%K.J

4P Clal{gi==>Pa(s) + 6 la(g) =7
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‘ To avoid thiz stamp, pleasze I

reqizter pour tal copy
Tze the thermochemical equations shown below to determine
the enthalpy for the final reaction:
(12C03(g) + ZHaOil==CHzCOOHD + 20203 g=871KJ
(CO2(g==Claraphite) + O2(g) =254 KT
(A2H2O(D==2Hz({g) + Caig) g=072KJ
CHzCOOHD=>2C (graphite) + 2Ha(g) + Oalg) ="
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Use the thermochemical equations shown below to detertnine
the enthalpy for the final reaction:

(L2 O0(g)=>Ci5) + O2ig) =236 KJ

(232008 + ZHalg)=>CaHg(g) g=-31KJ

(32C0(a) + 2Ha Oy == CoHgig) + H202(g) g=936KJT
HaOili=>Hai{g) + 1/202(g) =1



Dealing with Dalton

o Undoubtedly the most important aspect of Dalton’s Law of
partial pressures is organization, as the actual calculations
themselves are not difficult.

e Consider amixture of three gases, A,B and C. The possible
dataset IS

mole X P m

nA X A IDA mA
nB X B PB mB
nC XC PC mC
N, X+~1 P; m;

In addition, there are two equations of general value:
P=X*P; X,=n,/n;

Thereal issuein this areais recognizing how a given subset of the
above data can be used to solve the problem under discussion.



e A oneliter mixture of three gasesat STP
has n,=0.020 and P-=190torr. Figure out
everything that you can.



Graham's Law

Key step isto aways calculate the sguare roots of
the gmws immediately and make sure that you use
them.

Make sure that you understand the how the
following are actually the same statement
— The heavier | am the Slower | move
— The heavier | am the longer it takes
Everything hereisrelative

When you have the opportunity to assign values to
anything, use convenient numbers



